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The question paper is divided into three sections A, B and C.
Write answer as per the given instructions.
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Section - A 8§xX2=16
(Very Short Answer Type Questions) (Compulsory)

Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.
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Name two high level computer language.
FFRICR D QI I TR A FTsY|
Give the full form of ENIAC.
ENIAC &1 9¥1 7 feTRau

In which distribution the mean and variance values are
equal?

g PR o fodvor & il derm foemor & g9 SRR 8ld 8 2

What is a histogram?
feeemm @ g2
Define Parapatric Speciation.

R STfr Ig¥a & aRyIa Hifom|

What is QTL Mapping?
QTL Hfthr a7 82

(vii) What are RFLP's

RFLP's 7T §?

(viii) Define Genetic Drrift.

Note:

3TFaTe1eh SgTd 1 YR HIfAU|

Section - B 4X8=32
(Short Answer Questions)
Answer any four questions out of eight. Maximum word
limit is 200 words for each question. All question carry
equal marks.

(s - 9)
(oTg IR 99)

MZO-04 /900 / 5 2) (Contd.)



779

fAder: ame Ul § 9 BIE IR U9 S| UAP YT Pl IR 200
greql § aRfifid HifsRr| At geat & 3 wwH £l
2) Give the applications of Poisson's distribution.

UTgSH fIeRUT & SFIPRINT 1 SISl

3) Write a short note on student t - test.

fameff o t - oieor R v oy e fRau)

4) Find out the median of the following numbers.
e Avearen Y wifedraT o1 9 S BT
(i) 21,12,49, 37, 88, 46, 55, 74, 63
(i) 88,72,33, 29,70, 86, 54,91, 61, 57

5) Define standard Deviation (S.D.) and give its mathematical
expression. Why S.D. is more popular than mean deviation
(M.D.) in Biological statistics analysis?

(S.D.) A et T aRIT HITY qUT et MU
foRau| Sifdes Aifead fagetyor § (S.D.) (WMs fawre ), sitad
forger | 31fde Al =i g ?

6) Give the importance of Biostatistics.

SteqTfEgdhT &Y HgaT gd18Ul

7) Describe the pattern and mechanism of Reproductive isolation.
IS JAFDRUT DT oY dAT GARICIPESEE IR

8) Explain neutral theory of Molecular Evolution.

MU AR ST b devd Rigid o JHs8Ul

9) Comment upon the factors affecting human disease frequency.

e I DT AT BT TG IR dTet PRI IR feoquft HfTg|
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Section-C 2X16=32
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum upto 500 words. Each question carries
16 marks.

(Tvs - ¥)
(Sref ST T9d)

fAder : fh=gl @ U9l & IR IR 31T 319+ IR ! 31fdrpdd 500
great § gRATT BTl TDes T9T 16 37hT T Bl

10) What is molecular evolution? Discuss in detail.

U PaRTT S T g ? foRaR o qH=Isu|

11) What is meant by a statistical hypothesis? Explain the concept
of Type-l error and Type-Il error, level of significance and
critical region.

AT gRbeIAT A FT Rt g? T8U-1 JfC der crga-||
IS DI YR, TR BT Aged AT hifchel &7 DI FHIAST

12) Consider a human population that is similar to the ideal Hardy-
Weinberg populationinthatitis very large and generally random
mating. Although mutations occur, they alone do not lead to
great charges in allele frequencies. However migration occurs
at relatively high-levels -perhaps 1% per year. The following
data describes relative numbers of individuals bearing the two
alleles of the MN blood group.

MM MN NM Total
Individual 1787 3037 1305 6129
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Do these data suggest that some factor is distrupting the
Hardy Weinberg propotions of the three genotypes? What are
the allele frequency of M and N?

M & U qma St o fo gref-ave Seivet | S By
4 M g b a8 98d 991 ¢ AT AR FHFE qaidt €1 ge
ScURac I & UReq a8 Ueilel STMepfel  9gd g1 GRac T8l
AT | ToroTT 3Tfere AveT § giell § a1 S¥eT R 1% ufoay de
B Al gl T Tepg S A & AelT I=am g S f6 MN
R g b QI Uelle ford &Y &

MM MN NM Total
SRT 1787 3037 1305 6129
T J 3fips TE I & b PIg W BRPB 7 1 S(HICST b
EIST et JTIUTT I YA R 38T 21 M TUT N i Tetlel JMgfr
T E?

Discuss the reason why the proteome is larger than the
genome of a given species?

PR b T HIve S Ig gav fp fedt Sifa @1 wifeam
AP S W g1 a1 B &7
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